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Question 1:
A) Classify each of the following numbers into rational and irrational
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B) Selve the tollowing inegualities, and write your answer in interval notation:
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Question 2:
2 / i
ALet flax) = 4 — = L, og(x) = = — 1 . Find:
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B) Determine whether the funcrions Ji:

— 1 are the same or not
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Question 3

Consider the function J (a2 ) =
2 =+ D

A Show that fi=x=)y is a one-to-one function.
B Find - *(=).
C) Faind the rmange of  f(xh .
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Question 4:
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]J without using c‘alcul ator.
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A) Find the exact value of lurl(('os [

13) Verify the sdentity:
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C) Solve the following equusticon for « an {0,277,
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